-

MEHHOKRFLE NIRRT ~IFT—BR{IAREHTE ! ~

2023FE TF/IREMFBASRRRRIEUNEASHEASHE

mE FoseKift MEARPBF—A  8F—A
ORREE/QUESHE/ORER/ DR
BtEEETC/GRIDR/ DiERi/ X8

98178
SE10d
9838
88278
872208
2023FE TIF/IZRFFEASRERRZEUEAE MEETH
EOEHE FRE ETRE s|efiE
5 4 o 7 7 I 5 3 7
08178 S
KBD
98108
9838
8E278
I
Jid
a2}
=1
]
T
o]
( |AFHEAEDORE
STIRG GIFIIEE i oL
88208 (8) i L FMG LR
TG (,IF' 1HE) MG, L A5G g HlG (HE%) | KBG (AHE
88278 (8) o ﬁ'ﬂgﬂeﬁ) ﬁﬁ}_(ﬂgﬁ) . == 15 RS f-(‘J )
9828 (8) CG (IPJH%) iKGéIfJ‘lib)ﬁtmﬁﬁf{?D 3‘?[6 %@E\x} ?ﬁG (iﬁ%) a.c 2
98108 (&) ?3”5.6 (?E’-JJ@ @I(gﬁg%) EﬁGE(¥ri‘§%) G ( ) G ( ) G.L F] G.L 2
98178 (&) 5‘516 GE%) i‘i]ll,@{.ﬁfﬁﬁib) RHEG (AE) | G 7 G.L 3 G0 3 G0 3
il Ty Y
@ el a8l T8l T8l el e el
Gl ) G.g ) G J G.( ) G( )] G.( 2 G.0 ]

MIFNRF—L  IFNEF-LEESF-ATOWHE, HEF—L, FEKF—ADS—FEIEZL VI,

KB—HSOF—Ald, BFH—F BEEFENH—F « A/N—F « BIRUERY—FET : 465 TIC
$“{1Lﬁﬁj3‘3ﬁb\§ﬂ

FEE -

F7.
88 (BAf) - 98238 (i?R) +9824 (B)

éﬁ%@%ﬁ 9%3E(E)IFHIERE
MERTASMES : 98288 (A)
MERFEASRIE 10818 (B

ZEMILE

IR CIF) I[Eéfﬁ%) ik CIFNEY —PG) | ,..JH (FINYZPE)
Gl. PR CIPIEY_PG) . TE (BHG)
B (RSRAEC), ‘ﬁi]]l (‘Fﬁ%ESEG g REY=7G) . Rt ERIEXZPG
B (EJpR—

Bz
AE (RBEYZ PG) EB (ZE/IBAD)

HERmEE  F1HS: 9~ | B2ES 118~ | #£3#55 1 36~



[BEDSFSE D [CHAT]

~VI—RLEREHIE | ~

2023FE IFIIREMFEASRETTREUNERS
8H20H (H) 108 1458
TSR F1H8 g2HEs £355 TS0 REFE
ST BREE 4 — 0 JIFNDR| TIAINdE 12 — O H|=ERE = NI
=l java O — 7 ERIR =) 3 — 4 E — &
S KB O — 19 EBifR w8 4 — 5 AH — FES
1) il 1 — 8 ERSW | ASH 7 — O 2 — i
&1 HRHER 4 — 5 #EBhR bl 2 — 3 5 — REF
&I BUPHRE O — 7 FiRS 2M| 0O — 7 &5l — fER
&g = 1 — 13 H@EB8ETC| Frdk 2 — 7 FEE — =8
88278 (B) 20% (875) WEETE10% (T88) BR
TSR F188 F2RS FEIHE TS0V REESE
Hibd FROEE 1 — 8 [IP)dhd| FREE 7 — 0 IF/E — JIA
il =B 4 — 5 Fall ERE/Il O — 24 ST == )]
w8 L] 2 — 9 Rgihs w8 9 — 8 RBIUPHE — iR
28 B 12— 6 = gFRlE 5 — 3 28 — R
&1 wREL 4 — 7 #B fE3i 5 — 3 aIFNE-& - 5
HiE tHESE 9 — 1 BERNR| ERE 0 — 3 FEE |[ttBaf@TC 9 — 3 @EdHR =5
AH AHRpR O — 5 Fzil tHEsEgEfE 5 — 12 AHB — R
983H (H) 30% 438 MEET20E 288 BR
TSR E158 E2HS EIHS T30 FEEE
TX HESAH 12 — 0 HESHETC| ER#E 10 — 0 RBUthR [a1AIE-8 2 — 3 #|:xib - IR
paid Bz 16 — 7 t@sBEs| JIANdk 0 — 7 =] = H|
= biAAll 5 — 6 @#HPR [[ITF)dR 12 — 5 ST — aiE
&1 FiRE 7 — 4 FRAR| #ELk 4 — 6 BE — e
B AHB 2 — 9 HRE WS 0 — 9 ZHERHFW — 5%
OH10B (R ERE2HEIEE MESEIIOHIA4RSKHR
TS5k F158 F2H8 FE3IHE T30V REES
LR E D) s 6 — 10 HRH q=itk 4 — 8 B — fER
@I IR O — 2 HiiE | FRp=E 8 — 1 5 — TREF
TR HEE 3 — 8 ttHESHE il 4 — 7 f@EDR — 28
98178 (B) HREH - BEREASY— FRHER HWEEERARRAEBAGSHES
TSR E1588 ZE258 FEIFS T30 REEE
f&# 1 wEE 10— 0O @5 HASH 2 — 6 HREE — RET
I Bz O — 7 SR | @& 7 — 6 FiRiS — fER
AH HASHETC 6 — 4 FRE @EPR 3 — 7 AB — A
A8 0O
TS5k E1E5 FE2HE E3WE TS50V REEE




